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REEE

Q FERITERE
=

SRR D ALE | BEe \ 142A0110 [EliES \ THRE]?2 | FrTEHh =F B0 T A0 & BT = e 1 1
SUERIMO TiRIZBEET 51 SER MR
io LESOBBOBELNORES TEBORRBSLNDORES LESOBBOBELNORES TEBORRESLNORES
&S X 4 B | T oD AOKRES R 4 TiALDKE [ HE ADKRES B 4 B | LimhoDkE NAOKRES R 4 LHWmALDOLE | B NAOKRES
(m) (m) (kN/m) BB (m) (m) (kN/ ) (m) (m) (kN/ ) (m) (m) (kN/ )
1 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/M%E# %% = -~ = -|3mEEZS ol ~ = = =
Zhn st - -~ - -| #hist = Kot - - - Zhn st - = Rt - -| £hist = Kt - - -
5 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mZEEZS ol ~ = = =
Zhn st - -~ - -| #hist = Kot - - - Zhn st - = Rt - -| #hist = Kt - - -
3 100kN/mM%# %% 1.00(0.00 ~ 1.52 123.17|3m%E#BZB| - ~ = - -| 100kN/mM%E# 2% 1.00{ 1059 ~ 15.95 123.17|3m%E#BZ % -~ = = =
Fh st 1.00/1.52 ~ 930 100.00| Zhll4t | 000 ~ 930 2.32 12.41 ZFh st 1.00| 5.00 ~ 1059 100.00] Zhuist | 500 ~ 1595 2.32 12.41
4 100kN/mM%# %% 1.00/ 000 ~ 0.54 107.94|3m%#BZB| - ~ = - -| 100kN/mM#%E# 2% 1.00| 16.29 ~ 18.91 107.94|3m%#B %% -~ = = =
Fh st 1.00{ 054 ~ 832 100.00| Zh k14t |0.00 ~ 832 2.98 15.96 ZFh st 1.00f 5.00 ~ 16.29 100.00] Zhuist | 500 ~ 1891 2.98 15.96
s 100kN/mMZ# %% 1.00(0.00 ~ 095 114.23|3m%E#BZB| - ~ = - -| 100kN/mM%E# 2% 1.00{ 13.34 ~ 17.02 114.23|3m%E#BZ % -~ = = =
Fh st 1.00/ 095 ~ 873 100.00| Zhlist [ 000 ~ 873 281 15.03 Fh st 1.00| 5.00 ~ 13.34 100.00] ZhLlst | 500 ~ 17.02( 281 15.03
6 100kN/mM#Z#BZ % -l -~ = -|3m#%#8%x%|000 ~ 0.17| 3.16 16.92| 100kN/m%# %% = -~ = -|3m#%i#8x5|15.00 ~ 17.05| 3.16 16.92
ZFh st 1.00{0.00 ~ 7.03 89.21| #hiust |0.17 ~ 7.03| 3.00 16.05 Fh st 1.00f 5.00 ~ 17.05 89.21| #hilst | 500 ~ 15.00| 3.00 16.05
; 100kN/mMZ# %% 1.00/ 000 ~ 1.05 115.80|3m%E#BZB| - ~ = - -| 100kN/mM#%E# 2% 1.00( 12.31 ~ 16.01 115.80|3m%E#B 2 % -~ = = =
ZFh st 1.00[1.05 ~ 884 100.00| Zhli4t | 000 ~ 8.84[ 272 14.56 Fh st 1.00f 500 ~ 1231 100.00] ZhList | 500 ~ 16.01| 2.72 14.56
g 100kN/mMZ# %% 1.00(0.00 ~ 0.83 112.37|3m%E#BZB| - ~ = - -| 100kN/mM%E# 2% 1.00{ 13.75 ~ 17.03 112.37|3m%E#B2 % -~ = = =
ZFh st 1.00/0.83 ~ 8.61 100.00| Zhll4t |0.00 ~ 8.61| 2.84 15.19 Fh st 1.00f 5.00 ~ 13.75 100.00] Zhiist | 500 ~ 17.03| 2.84 15.19
9 100kN/mZ# %% 1.00/ 000 ~ 1.16 117.51|3m%E#BZB| - ~ = - -| 100kN/mM%E# 2% 1.00( 12.37 ~ 16.57 117.51|3m%#BZ% -~ = = =
ZFh st 1.00[1.16 ~ 895 100.00| Zh k14t | 000 ~ 895 2.73 14.60 Fh st 1.00| 5.00 ~ 1237 100.00] Zhuist | 500 ~ 1657 2.73 14.60
10 100kN/mMZ# %% 1.00(0.00 ~ 1.62 124.73|3m%ERBZB| - ~ = - -| 100kN/mM%E# 2% 1.00{ 10.64 ~ 16.04 124.73|3m%E#BZ % -~ = = =
ZFh st 1.00[1.62 ~ 940 100.00| Zhlist [ 0.00 ~ 9.40| 2.26 12.10 Fh st 1.00| 5.00 ~ 10.64 100.00] ZhList | 500 ~ 16.04] 2.26 12.10
» 100kN/mM%# %% 1.00(0.00 ~ 0.68 110.13|3m%E#BZB| - ~ = - -| 100kN/mM%E# 2% 1.00{ 13.37 ~ 15.89 110.13|3m%E#BZ % -~ = = =
ZFh st 1.00{0.68 ~ 847 100.00| Zhlist [ 000 ~ 8.47| 281 15.05 Fh st 1.00| 5.00 ~ 13.37 100.00] ZhList | 500 ~ 1589 281 15.05
12 100kN/mM#Z#BZ % -l -~ = -|3ImEBZD| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZS ol ~ = = =
ZFh st 1.00{ 000 ~ 7.71 98.91| #hilst |000 ~ 7.71| 299 16.00 Fh st 1.00|] 500 ~ 16.13 98.91| #hilst | 500 ~ 16.13] 299 16.00
13 100kN/mZ# %% 1.00(0.00 ~ 0.65 109.73|3m%E#BZB| - ~ = - -| 100kN/mM%E# 2% 1.00( 14.28 ~ 16.94 109.73|3m%E#BZ % -~ = = =
ZFh st 1.00[065 ~ 844 100.00] #hLlst | 000 ~ 844 287 15.38 Fh st 1.00| 5.00 ~ 14.28 100.00| Zhlu4t | 500 ~ 16.94| 2.87 15.38
14 100kN/mM%# %% 1.00/ 000 ~ 1.08 116.33|3m%E#BZB| - ~ = - -| 100kN/mM%E# 2% 1.00{ 13.50 ~ 17.90 116.33|3m%E#BZ % -~ = = =
Fh st 1.00{1.08 ~ 8.87 100.00| Zh k14t | 000 ~ 8.87[ 2.82 15.10 Fh st 1.00f 5.00 ~ 13,50 100.00] ZhList | 500 ~ 17.90] 2.82 15.10
o 100kN/mM%# %% 1.00/ 000 ~ 1.77 127.17|3m%E#BZB| - ~ = - -| 100kN/mM%E# 2% 1.00( 10.66 ~ 16.76 127.17|3m%#BZ% -~ = = =
st 100|177 ~ 955 100.00] ZhLlst | 000 ~ 955 247 13.19 ZhLst 1.00] 500 ~ 1066 100.00] ZhLlst | 500 ~ 16.76] 247 13.19
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REEE
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=
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‘ SIERMO Tin(CHEET ST i SER MR
o LREOBUOBEENOKRES LREOERBSENDRES LREOBUOBEENORES LREORBEESENORES
= = S AV 7 S HVE | = = S AV = S AV = 5
16 100kN/mM%#B % % 1.00/ 000 ~ 1.49 122.63|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00[ 11.12 ~ 16.10 122.63|3m%E#BZ % -~ = = =
Fh st 1.00] 1.49 ~ 927 100.00| Zh kst 000 ~ 9.27| 257 13.76 ZFh st 1.00] 500 ~ 11.12 100.00f Zhiust | 500 ~ 16.10] 257 13.76
17 100kN/m%#B % % 1.00/0.00 ~ 049 107.22|3m%#BZB| - ~ = = -| 100kN/m%#B %% 1.00[ 11.98 ~ 13.49 107.22|3m%#BZ 5 -~ = = =
Zhn st 1.00]1 049 ~ 8.27 100.00| #h st [0.00 ~ 8.27| 2.47 13.24 Zhn st 1.00] 500 ~ 11.98 100.00| #h st | 5.00 ~ 13.49| 247 13.24
18 100kN/mM%#BZ % 1.00/ 000 ~ 0.17 102.55|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 12.03 ~ 1254 102.55|3m%#BZ % -~ = = =
Fh st 1.00/0.17 ~ 7.96 100.00| Zhli4t |0.00 ~ 7.96 2.48 13.26 ZFh st 1.00] 500 ~ 1203 100.00f Zhiust | 500 ~ 12.54| 248 13.26
19 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Fh st 1.00/ 000 ~ 6.46 81.29| #hilst (000 ~ 6.46| 1.88 10.04 ZFh st 1.00|] 500 ~ 7.92 81.29] Zhils | 500 ~ 7.92| 1.88 10.04
20 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Fh st 1.00/ 000 ~ 6.15 77.12| #hiis [000 ~  6.15] 1.82 9.74 Fh st 100 500 ~ 7.17 7712 #hids | 500 ~ 7.17| 1.82 9.74
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnst ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~ |
aFE



